((BEEN

X DER)

- T BEERADER -
- ASEIRA =
6101 A=EUNA 0 0
- ASEIRAGT 0 0
- 2EIRA -
6151 | IFSESEINA 100, 000 0
6161 | MRS REUIRA 50, 000 0
6171 | ESEBREINA 0 0
- BIRAG 150, 000 0
- EERA -
6201-1 |T4V—DER. HFE ARSI RIA -BARBMEE| 1,000,000 0
TAO—DER,EEARBFRNA - ERIMH
6201-4 | FHBHIEZITE 0 0
62015 [T4o—DER. BE IEREFEINA -=Z5MHE 800, 000 0
6202-2 | TAO—1ERDI=HDHEFENA - AKESS 0 0
6202-3 |TAD—ERDIZHODHAEERNA -HHESS I 80, 000 0
TAO—ERDI-ODHEBEEXERA -ZERKME
6202-4 | FMEBEHIEZTE 0 0
62025 | TAV—ERDI-HDHEEEFRNA -=Z 0[5 0 0
TAV—DRIIAEREERNA —ZIEEMHREERE
6210-4 |#I{EZTE 1, 000, 000 0
6210-5 |[TA4O—DEIMMESEIA -=ZUHBIKE 0 0
- -BEINAGT 2, 880, 000 0
- HBEFIA -
B EFAGT 0 0
- HFENA -
6501 | FFTEULA 800, 000 0
- HFAERAG 800, 000 0
- FUIXA -
6551 | ZEFI B 0 0
6555 3‘&”}1)\ 0 0
- = FEUR 0 0
%".%H)U\ Eili 3, 830, 000 0
-ITEEZEDOER -
680144 |T4o—DER. BER IEHEZEE liﬂﬂ’ﬁ%ﬁ 2, 000, 000 0
6801-60 |TA4V—DER, ER AKBXE -=5 20, 000 0
6801-80 |[TAU—DNER . BER IEREEXE -IREXEE 150, 000 0
6801-90 |[TA4U—DNER .EX IEREEXE -B5EKE 50, 000 0
6801-135 T4o—DNER . BHR EREXE -REZERE 200, 000 0
6801-137 | TA4V—DER. BEHK IEREEE -T14O—HlE 0 0
6801-250 TAV—DNER. BXK IEREBEXE -HE 64, 000 0
6802-45 |TA4o—1EB D= DAREBREXZH BT 70, 000 0
6802-47 | T4 —1ERDI=8HDIRERES I H —Eﬁefﬁs*cié% 85, 000 0
6802-60 | TAo—1EBDI=HDKEBEEZH -£& 25, 000 0
6802-80 |TA —1ER D= DHEBREZTH -REXEE 20, 000 0
6802-90 | TAU—1ERDI=ODARBEETH —BIEERE 0 0
6802-91 |TA—1EB D= DAREBEEFTH R ERE 0 0
6802-110| TA>— iD= DAEBRETH -HERE 0 0
6802-136| T4 —1ER D= DIRERE I H -EHHRIZE 0 0
6802-171|TA>—1ER D= DIAEBREZH -£15E 0 0
6802-250| T4 —ER D= DIABRE I H -H#E 0 0
6803-45 | TA—1ERDI=ODHEEZH -FEEHBE 640, 000 0




6803-47 | TAV—1ERD=ODHEESZH —FEXEE 40, 000 0
680360 | TAV—EBDI=HDHIEEZH -£& 60, 000 0
6803-80 | TAC—1ERDI=HDHIEESTH -REXEE 0 0
6803-90 |TAU—EBDI=HDHHERXH —BISEHRE 20, 000 0
6803-100| T4 —1ER D= DHES X H —HFEH = E M 0 0
6803-110| T4 >—1ER D= DHHEEZH -EHELE 0 0
6803-136| T4 —1ER D= DHHES X H -E X FRIE 40, 000 0
6803-171| TA>—1ERD - D IEEZH -£15E 60, 000 0
6803-250| TAV—ERDI-HDUHER T H -3 E 0 0
6810-44 |TA—DEIMEEES —liﬂﬂ’ﬁ%ﬁé 700, 000 0
6810-60 | TAV—DERGMAEET -2 0 0
6810-80 |[TAV—DNRIIMEEZXE -IREXAEE 0 0
6810-90 |T4V—DEFHRERE - \I5EHHKT 0 0
6810-100| TAV—DNEFMEREXE BN RERE 0 0
6810-135| T4V —DEMMREXE -MESEAE 0 0
6810-137| T4 —DEIMEETEE T+ —hlEE 0 0
6810-138| T4V —DEIHMASEE -HmEEXBEE 300, 000 0
6810-250| TA>—DEIMAEEEE MHE 0 0
S EEEET 4, 544, 000 0
..EEIE@E —
6901-60 |EHE -£i& 0 0
6901-80 EHE -REXEE 0 0
6901-90 |BEHE -BEERE 0 0
6901-110 EHE —HELE 0 0
6001 250 ‘BB Mz 0 0
7099 EANF ERMRBRUEER 0 0
EHEST 0 0
_ﬁ"".%‘itt'. St 4, 544, 000 0
FENX = ~714, 000 0
- M Z D th EEUNA DER =
HEATIA -
7201 | FREAfE A URA 0 0
7202 REAFEAEIRA 0 0
B AEIAGT 0 0
-ZFDMELEIRNADEEET 0 0
-VZDhEE T HDER -
—EAEEE X -
7601 FEHAIEAEREIH 0 0
7602 REAEAEREIH 0 0
EAZREXZHET 0 0
- FDMEEZHDEEET 0 0
- ZTDMINT EER 0 0
B NEE -714, 000 0
- AT EA RN R = 58 1, 532, 942 0
- RERREHIN T =58 818, 942 0










